HTRHES - AOX (BEXAN) ST ETA1BEE
B 4 =& 5 3 it B 4 =& 5 3 it

HHZEHT 102 150 164 314 (= RpiHET 340 416 444 860
KIFHET 1,886 2,316 2,405 4,721 ||%KHET 409 483 445 928
B GHET 213 173 144 317 [hBHT 179 234 224 458
=AHT 4,009 4,584 4,771 9,355 | FLLLIET 274 333 360 693
=aidt&E 1,232 1,488 1,506 2,994 |1 EHET 347 412 440 852
F [ ET 412 521 515 1,036 |[tA[RHET 337 371 395 766
£ [FET 1,528 2,084 2,070 4,154 |&HRT 334 371 413 784
FHHET 254 252 347 599 (AT 419 429 444 873
JKATET 1,291 1,707 1,722 3,429 ||ta[RHET 176 237 257 494
& BHET 697 981 989 1,970 [T & HT 2,402 2,822 2,585 5,407
IR A< HT 78 114 132 246 ||7F5EHET 102 150 165 315
48 / JERET 564 804 814 1,618 |5 GHT 901 1,032 1,056 2,088
FF+EET 423 552 549 1,101 |E EHT 854 966 1,008 1,974
FHRET 179 257 237 494 (;EHT 0 0 0 0
S ERET 202 234 241 475 |— & HT 164 229 229 458
YEIAET 58 78 69 147 & FHT 921 1,191 1,213 2,404
FrHHET 279 337 333 670 ||fiZ FRET 4,592 5,948 6,052 12,000
I\NBEHT 372 423 456 879 |[7&;HHET 2,091 2,688 2,720 5,408
FEAMET 374 399 439 838

AHT 401 476 521 997

£ ZRHET 131 154 159 313

rh S R HT 481 575 586 1,161

JoHT 308 361 349 710

EHT 247 272 282 554

e 607 670 704 1374| & 31,170 38,274 38,954 77,228




